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QUESTION 1

Which two options are true if inventory is unallocated and unavailable? (Choose two.) 

A. Inventory located in a drop zone 

B. Inventory located in active location 

C. Unlocked inventory located in reserve location 

D. Inventory in locations with lock codes 

Correct Answer: CD 

 

QUESTION 2

Identify two correct statements about the type of receiving supported by Oracle WMS Cloud. (Choose two.) 

A. Oracle WMS Cloud does not allow assigning multiple ASNs to a load. 

B. Receive by ASN (RF-Text: Recv LPN Shipment) allows receiving multiple ASNs. 

C. If the trailer contains multiple ASNs, IB Loads can be used to consolidate then into a single record. 

D. Receive by load (RF-Text: Recv LPN Load) allows receiving multiple ASNs. 

Correct Answer: BC 

 

 

QUESTION 3

You are creating a standard report for a client to display LPN Numbers (for multi-SKU LPNs) and their associated items.
The two data fields you have in your report are LPN Number and Item Code. Identify what controls need to be set to
create a sub-total for the number of items for each LPN. 

A. Set the Summary Function for item to "Count" and check the Summarize By box for LPN. 

B. Set the Summary Function for item to "Total" and check the Group By box for LPN. 

C. Set the Summary Function for LPN to "Count" and check the Summarize By box for Item. 

D. Set the Summary Function for LPN to "Total" and check the Group By box for item. 

Correct Answer: A 

 

QUESTION 4

What configuration is needed to create Advance Shipment Notifications for a Transfer Order shipped between two
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facilities configured in the same WMS Cloud environment? 

A. The Facility parameter key AUTOLOAD_and_SHIP should be set to Yes. 

B. The "ACCEPT TRANSFER SHIPMENT" flag should be enabled on the Facilities UI screen for the Source Facility. 

C. The "ACCEPT TRANSFER SHIPMENT" flag should be enabled on the Facilities UI screen for the Destination
Facility. 

D. Set CREATE_ASN_FOR_EACH_PO to YES at Source and Destination Facility levels. 

E. Set CREATE_ASN_FOR_EACH_PO to YES at the Company level. 

Correct Answer: C 

 

QUESTION 5

Which two REST API actions are supported by Oracle WMS Cloud? (Choose two.) 

A. SEND 

B. RECEIVE 

C. DELETE 

D. GET 

E. POST 

Correct Answer: DE 
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